EARAZROREIERT — 2 N— XBISY —F 20201898 (k) 17[E%HA3H

IR E5E45R] A3 4 5%—M% (xwlw | mEmml - |5 6) o 8
[xE£] 1 %:480,000 1  2#&:111,000 3#&:48,000 W  43#%&:34,000 1 57 :24,000 H
B B BEBR M HE BF (FE) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
= > HLEFRER :27. -1-1- . — ABED (BEE)
1177 Ve A > 8 %0 1(2_7)3 1-1-1-1 37.6 3 (5_233) it
R:VIZ>t5T4L BHA-—FTUINTHEAR gE BE
. KBt :27. === . — HEET (A
> ST N7 — % 5 54_0% 1(12/72)4 2-2-2-2 | 37.4 1 (4_676) S A
L:dq 7 hT—bEY B RZIT7U-— BR& FH77-L4
N DIITE: : 54— - RE# (%4)
H : EIAE R 5o e AR 2 f_ﬁ EEBA
RN—HINK B:ZXE2—brFvh— BIEHS
N - . R WARIR ] 351 — FEXE ()
ARRESIE PP > 8 e 1.(238).9 4-3-5-5 | 38.5 5 zzg? e A
LTIV AZXIL R BN TAET R4 5
S . 47 | BHSEN 1:29.2 3-4-3-3 [39.0| — 4 474 | TERIE= (FH2)
5 WA 4 IERYT7> 56.0 (1 1/2) 1) ETEBE g
R:T7RIfYL—> BIEXF—I BLhERS
. 410 | AEEdE 1:29.4 8-8-7-7 [38.3| — 6 503 | =ARR— (521)
cHl6| T2/ 1Ty buts 56.0 (1 1/2) © |EE
XM Fxa—b B:Y</UTIL pzxie ]
S, : 4 7 | BR®RE 1:29.6 7-7-6-6 | 38.9| — 7 507 | DREE=ER (SE4R)
7155~ .'U"7 UK 56.0 (3/4) (3) | FEESE
R:TF9v 784K B:NIIA/N—h IEE Rk
N A : ~6-8- = BRIRA (ER)
glglg|TverT1F41 4 8 56.0A 1.(330).2 5-6-8-8 | 39.1 8 ;1;;37) ;;I;JE A
L:Tr7—3IUT7> BiRyhAFLTAT Eh R
® I —F—@EBIERL
1 ==cF= 7,2,4,1,8,3,5,6
2ol=7F= 7,2,1,4,3,8,5,6
Gal=7r= 7,2,4,3,1,5,6,8
41—+ — 7,2,4,3,1,5,6,8
[ /N5
B OB 7 750M 714K 2-7 200M B = 2-7 470M 3ER 2-3-7 380M
1 B 7 140/ &= 320M B H 7-2 1,750M JEH 7-2-3 3,700
2 1004 2-3 120M
3 1004

ARICOVWTRDTEEERROODE. TR LI,



